i v B K 55 (LK)

EFE I H (#fin) | 4/15
L | —fdmes (/mD | 40
2 ki (n/100m1) +
3 | FIYARUZEDIEY (mg/1)

4 kB OE DAY (mg/1)
5 Ly RUZEOILAEY (mg/1)
8 lgpuzofty (mg/1)
T e ERUZ DAY (mg/1)
8 A2 m ket (mg/1)
0 s 7ROty 7 (mg/1)
1217 v #ROZ DAY (mg/1)
I3 | Ry ZROZ DAY (mg/1)

| 32 |@ign e 02 DALE (mg/1)
3B 7N = AR DAY (mg/1)
34 R O Z DAY (mg/1)
35 |G R O DAL A (mg/1)
36 > b v ARUEDLAY (mg/1)
3T = v H Y R OZDILEY (mg/1)
3O HA LY A =R 1 () (mg/1)
10 ZEgrE @y (mg/1)
14 | pusfifbiRs (mg/1)
151, 4-vAxy (mg/1)
16 |0 -1, 0-YspnzF Lo RO b Ty A-1,2-Y s uuzF Ly | (ng/l)
T oyunrsy (mg/1)
Bl rsspnuxzFL (mg/1)
YKy spmzsry (mg/1)
20 [ Py (mg/1)

| 4L o Ao SR A (mg/1)
2|\ varzriy (ng/1) <1
B lo-2Fn g YR FA—L (ng/1) <1
A 31 o R (mg/1)

B 172 )—E (mg/1)

| 9 |mimmenesss (mg/1)

| e 2 5 % OV (mg/1)
38 |sffki 1 4> (mg/1)| 8.6
46 | i’ (Toco k) (mg/1) | 1.04
7 pH fiEL (mg/1) | 7.82
2 (mg/1) | Rt L
50 | (mg/D)| 6.4
oL | (mg/1)| 2.5
2 ki c) | 14.0




ci Vil W 7K % (k)

& 1 H (A7) | 4/15
U (n/ml) 0
2 K w/100mD|  —
3 | RIYARGZDIEY (mg/1)

1 DREEROZ DS (mg/1)

5 L  ROZEOREY (mg/1)

8 g Ozofem (mg/1)

T e BROZOEY (mg/1)

8 Az o aiba® (mg/1)

12 |7y #ROZOREY (mg/1)

3 iRy #ROZOEY (mg/1)

32 | Wgn O OALE (mg/1)
3B |7 A= AROZEDOIEY (mg/1)
3R O ki (mg/1)

35 R O DfLa (mg/1)

36 |5 b Y YA ROEDOREY (mg/1)
3T | v v L RUEDILE (mg/1)

39 WAy yh = s R b () (mg/1)

| 40 |zeseseimy (mg/1)
4| pusti b e (mg/1)

15 ) -9 (mg/1)

16 | x 1 0-vynnxFLo g rIvaLevrunzsry | (ng/l)

T \oypprzy (mg/1)
8|7 SrsmpxFLy (mg/1)

Y rhysopzsry (mg/1)

20 | xopy (mg/1)

AL e g A R A (mg/1)

2 varzrzy (ng/1) <
13 190-2F g VB FA—IL (ng/1) <1
3k o RIS (mg/1)
7= )= (mg/1)

9 | MmN EEIE (mg/1)

UL | rm e e 6 B O RS HE 2 5 (mg/1)

38 tfkan A A (mg/D)| 11.6
46 | e % (T0co> ) (mg/1) | 0.75
41 o1 i (mg/1)| 7.71
48 |k R L
9 ng Rz L
50 |ga g (mg/1) 0.5
51 |mpg (mg/1) | <0.2
10 o7 AR Oty 7 (mg/1)

21 | (mg/1)

26 | g g (mg/1)
BLIKL AT AT E B (mg/1)

22 |y v e (mg/1)

2 |y o a Rk (mg/1)

28 | MY 2 o o (mg/1)

23\ yaakL s (mg/1)

29 |gpmEvranAxy (mg/1)

B\ orneranAxy (mg/1)

30 |Fuxhr s (mg/1)
2T by oAy (ng/1)

* 1| kiR ) | 13.1




